
１．試験開始の指示があるまで問題冊子を開いてはいけません。
２．この問題冊子は 10 ページです。落丁、乱丁、印刷不鮮明などの箇所がある場合に

は申し出てください。
３．問題冊子および解答用紙が配布された後、解答用紙の所定欄に座席番号・氏名・

フリガナを正確に記入し、座席番号については、その番号を正しくマークしてくだ
さい。

４．解答は必ず解答用紙の指定された箇所に正しくマークしてください。マーク箇所
を誤った解答は無効です。

５．マーク解答欄記入上の注意
　（１）　解答は指定された解答欄にマークし、その他の部分には何も書かないでくださ

い。例えば、　　　　と表示のある問いに対して、③と解答する場合には、次の例
のように解答番号 20 の解答欄の③にマークしてください。

　　　例

　（２）　複数の解答がある場合も、同じ解答欄にマークしてください。ただし、指示さ
れた解答数より多くマークした場合は、その解答はすべて不正解となります。

　（３）　解答用紙へのマークはすべてＨＢのシャープペンシルまたは鉛筆で行い、訂正
する場合にはプラスチック製消しゴムで丁寧によく消し、消しくずはきれいに取
り除いてください。

　（４）　解答用紙は絶対に汚さないでください。また折り曲げたり破ったりしないでく
ださい。

　（５）　解答欄の所定欄以外の余白部分は、何も記入しないでください。記入したり、
汚したりすると解答用紙読み取り時の誤読の原因となり、採点できない場合があ
ります。

６．試験時間中に退場することはできません。
７．問題冊子は必ず持ち帰ってください。
８．解答用紙は持ち帰ってはいけません。

（2024 年度 H10）

英　語　問　題
注 意 事 項
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悪　い　例 解　　　　　　　　答　　　　　　　　欄良い例 解答
番号
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① ② ③ ④ ⑤ ⑥ ⑦ ⑧ ⑨ ⑩ ⑪ ⑫ ⑬ ⑭ ⑮
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15



－　－1

Ⅰ　次の対話文ⅰとⅱを読んで、 11 ～ 66 に入れるのにもっとも適切なものを

①～④の中からそれぞれ一つずつ選び、その番号をマークしなさい。

ⅰ
Lucy	 :	 Hi, Susan. Can you help me with my math homework after school?

Susan	 :	 Sure. 11
Lucy	 :	 Three o’clock would be great. I must give it to my teacher by five today.

Susan	 :	 Oh no, I have a meeting from three.

Lucy	 :	 Never mind. 22
Susan	 :	 How about James? He gets the highest scores on every math exam.

Lucy	 :	 Does he? I never knew that he was a genius in math.

Susan	 :	 I’ve known James well since childhood. He is shy but once you get to know him, he can 	

be nice and friendly.

Lucy	 :	 Sounds like he is kind. Do you know where he’ll be after school?

Susan	 :	 At the library. 33
Lucy	 :	 OK, I’ll go to the library at three. Thank you, Susan.

11 	 ①　What time would you like me to come?

	 ②　What time are you going to teach me math?

	 ③　What time does your teacher want to see you?

	 ④　What time do you need me to see your teacher?

22 	 ①　Who are you going to see in the meeting?

	 ②　Do you know anyone who can help me?

	 ③　Can you tell me who is the best student in your class?

	 ④　Can you ask James for help?

33 	 ①　He was there around three o’clock.

	 ②　He must have been there around three o’clock.

	 ③　He had better study there around three o’clock.

	 ④　He’ll probably be there around three o’clock.



－　－2

ⅱ
Andy	 :	 Do you still live near the university?

Rich	 :	 I do but I am moving next week.

Andy	 :	 Really? Where are you going to go?

Rich	 :	 44 , so I’m going to live in a house by the ocean.

Andy	 :	 Wow! That must be expensive!

Rich	 :	 Living alone would be expensive, but I’ll have five roommates.

Andy	 :	 That’s great! 55
Rich	 :	 I think it will be. Six people will share the electric and water bills, so it should be cheaper.

Andy	 :	 66  I like having my own room.

Rich	 :	 We all will have our own rooms. It has six bedrooms!

44 	 ①　I don’t like moving so much

	 ②　I don’t like my room now

	 ③　I really like the beach

	 ④　I really like the house

55 	 ①　Will it be noisier than living alone?

	 ②　Will it be cheaper than living alone?

	 ③　Will it be more expensive than you expect?

	 ④　Will it be quieter than you expect?

66 	 ①　But what about the waves?

	 ②　But what about privacy?

	 ③　Do you have any room?

	 ④　Do you have any pets?



－　－3

Ⅱ　次の 77 ～ 1616 に入れるのにもっとも適切なものを①～④の中からそれぞれ
一つずつ選び、その番号をマークしなさい。

The station building is the 77  structure in the country.

①　oldest	 ②　elderly	 ③　older	 ④　eldest

We must be prepared 88  earthquakes.

①　at	 ②　on	 ③　for	 ④　with

Rainbows appear when it is 99  in the sky opposite the sun.

①　rain	 ②　raining	 ③　rained	 ④　being rained

She has just gone shopping 1010  the supermarket.

①　to	 ②　at	 ③　on	 ④　with

1111  more guests than expected came to my birthday party.

①　Much	 ②　Many	 ③　Most	 ④　Best

I don’t agree with your idea 1212  we should give up the project.

①　who	 ②　which	 ③　that	 ④　those



－　－4

He has not read today’s newspaper 1313  .

①　already	 ②　still	 ③　then	 ④　yet

She couldn’t help 1414  a break after she worked for such a long time.

①　take	 ②　took	 ③　taken	 ④　taking

This theory is 1515  complicated to put into practice.

①　under	 ②　much	 ③　as	 ④　too

Please wait here until your name 1616  called.

①　will be	 ②　is	 ③　was	 ④　been



－　－5

Ⅲ　次の 1717 ～ 2121 の①～④の中で、正しくないものをそれぞれ一つずつ選び、
その番号をマークしなさい。

1717 	 I have ①been to London ②once, but my sister has ③never been ④ to there.

1818 	 I have ① just finished ② to read this book ③which you ④gave me last week.

1919 	 ①Did you watch the baseball game ②last night? ③How an ④ interesting game it was!

2020 	  It is not very easy ①for Amy to ②make ③friend with ④other children.

2121 	 ①One of the good ② thing about New Year’s Day ③ is having all the family ④ together.



－　－6

Ⅳ　次の 2222 ～ 2424 の文にもっとも近い意味を表すものを①～④の中からそれぞ
れ一つずつ選び、その番号をマークしなさい。

2222 	 They will have been married for five years next year.

①　They will get married in five years.

②　They are planning to be married next year.

③　They were divorced five years ago.

④　They got married four years ago.

2323 	 Tom was at a loss about what to do.

①　Tom had no idea about what he should do.

②　Tom perfectly understood what he should do next.

③　Tom was not so excited to do everything.

④　Tom was happy to do anything he could do.

2424 	 I took part in a music festival last summer.

①　I organized a music festival last summer.

②　I took a picture of a music festival last summer.

③　I avoided a music festival last summer.

④　I participated in a music festival last summer.



－　－7

Ⅴ　次の英文を読んで、後の設問に答えなさい。

The population of China is 1.4 billion. If the birthrate remains the same as it is now, by the 

year 2100, there will only be 700 million Chinese. Should the world be alarmed by this or is it 

better for the health of the planet?

Countries with declining birthrates are mostly concerned about this for economic reasons. As 

the population grows older and retires, there will be stress on the pension system. Ideally, many 

young people need to work to pay taxes for older people to get retirement benefits. If there are more 

retired people than workers, then the system will break down.

The American solution to this problem is to allow many immigrant workers into their country. 

If Americans did not allow 1 million immigrants a year into the US, they would have the same 

economic problems as other countries with aging populations.

But is that the right solution? The planet has never had so many people. There are food and 

water shortages in many areas. Much-needed forests are being destroyed to make room for more 

and more people. It would seem then that the real solution is to have less children in the future.

The world has limited resources and the more people there are, the more the natural resources 

are strained. Human population growth has devastated the animal kingdom. Animals are going 

extinct every single day. Industry is polluting the air and leading to climate change. The only way 

to save the planet may reduce the number of people before it is too late.



－　－8

設問　次の 2525 ～ 2929 について、本文の内容と一致するものを①～④の中からそれ
ぞれ一つずつ選び、その番号をマークしなさい。

2525 	 Which is true according to the passage?

①　A healthy economy has more young workers than people who are retired.

②　Many retired people can work longer and help young people with necessary skills.

③　The pension system causes stress for workers young and old.

④　Taxes are not necessary as long as everyone continues to be healthy and working.

2626 	 Which can be said about the US?

①　Immigrants are a great stress to their pension system.

②　Immigrants are usually older than other Americans.

③　Immigrants are a great help to their pension system.

④　Immigrants are working harder than other Americans.

2727 	 Which does the writer NOT believe about the planet?

①　There are so many areas worried about water.

②　More children will make the planet happier.

③　Food is not available for everyone on this planet.

④　There are enough forests for the people now.

2828 	 Which might the writer say about the future of people and animals?

①　Animals cannot exist without humans in the future.

②　Animals will depend on humans for food more in the future.

③　More humans will be needed to take care of animals.

④　More humans on the planet will be terrible for animals.

2929 	 The main topic of this passage is

①　whether immigrants are needed in large economies.

②　that the world will be better with less people.

③　how food and water shortages can be fixed.

④　that the world will be better with more people.



－　－9

Ⅵ　次の 3030 が一つの文章としてまとまるようにA〜Dを並べ替えた場合、もっとも
適切な配列を①～④の中から一つ選び、その番号をマークしなさい。

3030

　　Processed food is very tasty and convenient.

A　They also found almost 75% of calories in school lunches come from processed food.

B　Some health experts are worried about that.

C　For instance, they reported that eating processed foods can have bad effects on older 

people’s mental abilities.

D　However, it might be affecting our brains.

Therefore, older and younger people should not eat so much processed food.

①　D－A－B－C
②　D－B－C－A
③　A－D－B－C
④　A－C－D－B
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Ⅶ　次の日本文の意味を表すように、与えられた語を並べ替えて英文を完成させ、
3131 ～ 3838 に入る語の番号をマークしなさい。

彼女は明日ハイキングに行けないかもしれない。

She　　　　　　　　　　　　　　　　　　　　　　　　　hiking tomorrow.

①　able	 ②　be	 ③　go	 ④　may

⑤　not	 ⑥　to

私はこんなに美しい山を見たことがない。

I　　　　　　　　　　　　　　　　　　　　　　　　　mountain.

①　a	 ②　beautiful	 ③　have	 ④　never

⑤　seen	 ⑥　such

彼は帰宅途中で女性に話しかけられた。

He was　　　　　　　　　　　　　　　　　　　　　　　　　his way home.

①　a	 ②　by	 ③　on	 ④　spoken

⑤　to	 ⑥　woman

ペンを貸してくれて君はいい人だ。

It is　　　　　　　　　　　　　　　　　　　　　　　　　 your pen.

①　lend	 ②　me	 ③　nice	 ④　of

⑤　to	 ⑥　you

3131 3232

3333 3434

3535 3636

3737 3838




